P (= I ) = R IR %X ISR SREK
1 41 4/1 15:00 FEX TEEFET fiE 188
2 4/7 4/7 18:45 FEX YA E R 458
3 4/18 4/18 18:30 Aax WE2T BHE 458
4 5/5 5/5 19:00 FEX HR)BT A58 2R
5 5/19 5/19 7:40 FEX HEAR TR AT 188
6 5/29 5/29 17:00 Aax [iZyN==EIERpin 188
7 6/12 6/12 10:20 FEX FRAREEET AT 588
8 6/12 6/12 22:00 FEX AREBETHE 188
9 6/16 6/16 8:30 [i]=3 AREBETHE 28R
10 6/17 6/17 7:00 Aax Sig7T BfhE 188
11 6/19 6/18 10:55 Aax STRETEIAMSE 188
12 6/25 6/25 8:15 FEX FREE 188
13 6/26 6/26 7:00 FEX BRINBT R 6 BR
14 6/30 6/30 7:45 FEX HEARBTE IR 188
15 7/4 7/4 7:30 [3]ES SRR SR 188
16 7/10 7/9 6:10 [3]ES R ETTET R 188
17 7/14 7/13 20:00 [3]ES ERHIAR 188
18 7/14 7/14 11:20 Aax FRAREEET AT 188
19 7/19 7/18 21:30 Aax FIRETfHE 188
20 7/21 7/20 YHE [ii] 8 it LB 188
21 7/31 7/31 3:50 Aax B3 TBfHE 188
22 8/9 8/9 7:00 X HEARETE ISR 188
23 8/13 8/12 18:30 AX STTRETHRIEA R 188
24 8/13 8/13 18:10 [3]58 EET AR SE 188
25 8/14 8/14 14:30 AaX FH6THME 188
26 8/14 8/14 19:30 AX SETRETHRIEA R 188
27  8/20 8/20 6:30 FEX FERERhh 188
28 9/11 9/9 21:30 FEX KEEETHE 188
29 9/18 9/14 16:00 AaX CilyN==E KNPl 188
30 9/18 9/17 16:30 AX Bilg6 T BftE 188

w
—_




